3

V.

For the best experience, open this PDF portfolio in
Acrobat X or Adobe Reader X, or later.

Get Adobe Reader Now!



http://www.adobe.com/go/reader


THE

“"ECONOMY"”

THREE

Simple Set Available in Kit Form

E, of Aegis, believe that
many suburban families

are desirous of an extra’

radio in the home, but
feel that they cannot afford to pay
present-day prices for thafc_jsecond

Designed and Described
by :
ENGINEERING STAFF
Aegis “onufucturing Co.

Melbourne

radio. The necessities for a second
radio are numerous. A few ex-
amples, for instance. The house-
wife usually enjoys listening to the
week-day morning serials and since
much of her work is accomplished
in the kitchen, that is the ideal
place for it. Every morning at
breakfast, one who has to be at
work on time (and who doesn’t?)
is constantly reminded of the cor-
rect time if there is a radio in the
kitchen. Or perhaps the children
have special sessions they like
listening to, so with a second radio
in their room they can have their
own radio entertainment without
annoying the adults of the family.

Another popular use would be to

take the set out of doors into the
garden where the man of the
house can listen to the races and
ball games while at the same time
accomplishing his Saturday after-
noon work.

With this thought in mind we
have developed the “Economy
Three” Kit Set, a moderately small
mantel radio, attractive in appear-
ance, light in weight, economical
to operate, and at a price within
everyone’s reach. Yet with a
“built-in” aerial as a special fea-
ture it will give ample volume on
all local stations. Anyone who can
solder and use a few ordinary tools
can built it and no laboratory
equipment at all is needed for
alignment when the kit has been
completed.

Assembly

First of all, examine all the dia-
grams and study the correct posi-
tions of all the components, and,
having done this, mount the three
valve sockets on the underside of
the chassis, using the Y4-inch x
%-inch screws and nuts. Now
group all parts for the dial assem-
bly together and with the two
special diagrams on this subject
placed in front of you, carefully
assemble all the parts in the man-
ner shown. Tubular spacers of two
lengths are now furnished for posi-
tioning the dial backplate out from
the chassis the proper distance.
This is the only change from the
procedure shown on the diagram.
The next operation is mounting the
tuning condenser, or gang, which-
ever you choose to call it. This
unit is mounted up from the top of
the chassis with three 3%-inch

spacers and three Y-inch x %-
inch screws. Following this, close
the rotor plates sp they are fully
meshed and slip the dial drum on
the shaft underneath the chassis.
Rotate the drum to its correct posi-
tion, as illustrated on the dial dia-
grams, line up the edge with the
pulleys, and tighten the grub-
screws.

Instructions For Fitting The
Dial Cord

Start with the pointer carriage
and thread the dial cord through
Hole 1, and out through Hole 9,
so that 24 inches of cord is left
free from both holes. With the
gang condenser at maximum
capacity, adjust the dial drum so
that the cord slots are in the posi-
tion shown. Pags the cord around
pulley 2, then pulley 3, through the
hole in the chassis 4, around the

(Centinued on next page)

Front view of the chassis after it has been removed from its moulded-
bakelite cabinet.

The Australasian Radio World, June, 1948

Page 19






ECONOMY 3

(Continued)

drum 5, through the slot 6,
through the tension spring 7, and
without tying any knots on the
spring, attach the cord to a screw
in the centre of drum 8, tempor-
- arily. Taking the rest of the cord,
attached to the pointer carriage 9,
put two turns around the tuning
spindle 10, making sure to start
from the front and top of the
spindle. Then pass the cord around
pulley 11, through the hole in the
chassis 12, around the drum 13,
through the slot 14, and pass
through the tension spring 7, from
the opposite side to the first cord.
Free the first cord and holding one
cord in each hand, tie a single
overhand knot, as though tying a
bootlace. Then by pulling with
both cords, the tension can be in-
creased until it is satisfactory, and
the knot pulled tight at the same
time. This knot will hold suffici-
ently to check the operation of the
tuning mechanism and when it
proves satisfactory a couple of
extra knots can be tied and the
surplus cut off.

THE AEGIS “ECONOMY THREE"”

Parts

1—Cabinet, bakelite, inc. grille and baffle.

1—Dial assembly complete with glass.

1—Dial drum 3-inch.

1—""Aegis”” M12 coil.

1—""AWA’* single-gang condenser.

1-——“Ro::a" speaker with transformer, type
5C. .

2—Knobs, “Aegis.”

1—Universal chassis, “Aegis.”

1—Speaker bracket, "Aegis.”

1—Red terminal.

3—Octal valve sockets.

1—40 mA. power transformer.

1—"Rola” filter choke, type 6/60.
1—>X-inch rubber grommet.
1—Mounting " Strip.
1—420 mmf. mica condenser.
1—250 mmf. mica condenser.
1—100 mmf. mica condenser.
1—.1 mfd. paper condenser.
1—.01 mfd. paper condenser.
1—.004 mfd. paper condenser.
CARBON

Value

1—1 megohm 1 watt
1—.5 megohm 1 watt ..
1—.25 megohm 1 watt
1—.1 megohm 1 watt ..
1—250 ohm wire woun
1—.25 megohm potentiometer.

List

2—38 mfd. electrolytic condenser.
1—25 mfd. electrolytic condenser.
6 ft. Power flex.

5 ft. Black hookup wire.

6 inches Red hookup wire.

6 inches Green hookup wire.

6 inches Spag. insulation.

18 inches Tinned copper wire.
1—Soldering lug.

3—3/8-inch spacers.

11—12-inch x 1/8-inch R.H. Screws.
3—}-inék x 1/8-inch R.H. Screws.
4—5/8-inch x 5/32-inch R.H. Screws.
4—7]-inch x 1/8-inch C.S. Screws.
4—5/32-inch Nuts.

8—1/8-inch Nuts.

1—1/8-inch Shakeproof washer.
1—3/8-inch Shakeproof washer.
VALVES REQUIRED—

1 each 6J7G, 6V6GT, 5Y3GT.

RESISTORS
Colour Code
(Body) (End) (Dot)
Brown Black Green
Green Black Yellow
Red Green Yellow
Brown Black Yellow

Further Assembly
Mount the power transformer.
First remove the two nuts and in-

INSTRUCTIONS jov
FITTING DIALCORD

sert it through the square hole
from the top of the chassis. Make
certain the side marked 0-210-240
is positioned at the centre line of
the chassis underneath. Next
mount the M-12 Coil and H.T.
Choke as illustrated. Follow up by
screwing on the speaker mounting
bracket in front of the power
transformer, insert the rubber
grommet in the large hole at the
rear of the chassis, and mount the
red terminal as illustrated. Take

. care that the terminal screw does

not make contact with the metal

BOTTOM VIEW chassis. The speaker and baffle are
left off until the wiring is com-
pleted.

The fitting of the dial cord may be
a little tricky until you follow out
these diagrams.
~
10
w9
-~~~ Tt/ - - - T 7T
"@””‘r ----- [ iiintniai e S vty = B @
@ . o VPSRN Fom——== bl ———, e e e e o = - o "_“I !
3 vy -’(.:: T o
@ LI & @ [F,
1a S | (
NS o e = N/
W) FRONT VIEW ©

Page 20

The Australasian Radio World, June, 1948






T0 PIN*¥6 o« M2 COIL

F"‘“""""[""'" —> PINEJonSY3
PIN¥Gon5Y3 -

e _g_um’emm

EL 2 290 5

8 Mfd. (%%

l
'(g)-‘l-;rm"zu 53

NT.
(CHOKE]

Lo
Ve [l oYy

DIAL
DRUM

250#/3
Mica [

(\1’0 TUNING GANG
RED

O m— '/ \ I

? ng L OR
( Mi2 )4_ SHORT .

e eap ene S e o= —-‘.-- ———r——-—-————- -— e e TO LONG
' ry j AERIAL
| 1' Mfd-'

RUBBER ;%MMET : h 'l“a ——ﬁ
AC. MAINS M S A. TERMINAL

e

M2 Coil

The simple circuit used. Even greater range can be obtained by using a

type EL33A valve instead of the 6V6GT. No circuit or wiring changes are

necessary, but it is advisable to add a grid stopper of 100,000 ohms at the
grid pin of this valve’s socket.

The Australasian Radio World, June, 1948

Circuit and Wiring

The circuit is the simplest pos-
sible for a radio of this type, and
you should encounter no difficulty
whatsoever in wiring it. Further,
if you follow the picture diagram
of the wiring very closely you shall
experience no trouble in placing
the condensers and resistors in
their proper places, because there
is definitely plenty of space pro-
vided for them. Just turn the
chassis upside-down and begin
wiring. You’ll be surprised how
quickly: you will have completed
the job. One word of caution! The
picture diagram shows a rather
long lead from the 420 mmf. con-
denser to the power transformer.
This was necessary to keep the
illustration clear. Actually, the

(Continued on next page)

Page 21






ECONOMY 3
(Continued)
leads on the condenser are long
enough to reach directly across
fromm the terminal to the trans-
former and it should be connected
in this manner. First, though, be-
fore soldering in, cut off all excess
length of wire lead and slip on a
bit of spag. insulation to ensure no
possible contact between the con-
denser leads and other parts. Last
of all, wire in the speaker and
don’t forget to wire in the grid
condenser, grid resistor and grid
clip on the top side of the gang.
Another picture diagram illustrates
this.
First Test

Now is the moment you have
been waiting for. Connect the
short aerial lead, or red wire, to
the red terminal. Plug in the
6J7-G and the 6V6-GT. Don’t for-
get to connect the grid clip. Turn
the volume, or regeneration con-
trol, all the way to the left or
counter-clockwise, and plug in the
power. Allow the valves to warm
up for thirty seconds, then plug in
the 5Y3-GT, but watch very closely
that the plates of the 5Y3-GT do
not get red hot or a blue glow
does not appear on the inside of

Page 22

CONDENSER

TUNING
[

sHAKE Pm MOUNTING
WASH

T T T s e s Sssers = e -

1
/- res ol

2 D VIR T XL

N
R
®

power @ TRANS.

LA, GRID-CLP

< :
@@) ) ‘

(=)

[

the glass. either appears,
quickly turn off the power, because
this will indicate you have a short
circuit somewhere in the high vol-
tage wiring. In this case, recheck
your wiring carefully. If, on the
other hand, everything seems nor-
mal, advance the regeneration con-
trol until a squeal is head, then
back just enough to eliminate it.

Turn the dial until a station is
heard clearly near the 1300-1400
kC/s end. When you have iden-
tified the station, loosen the grub-
screws on the dial drum and rotate
it until the pointer coincides with
the station call letter on the dial.
Having done this, tighten the grub-
screws and your alignment is com-
plete.
Operation

Don’t be alarmed at the” squeals
which occur when the volume is
turned up. Every set of this type
does that; always has and prob-
ably always will. You will also find
that selectivity is best at high
volume. That, too, is characteristic
of its type.

Aerial Experimentations

If you like to experiment with
radios, here’s a good chance for
you. When an external aerial, and
perhaps an earth, are used, you
will find it will work best on only
one of the two aerial leads coming
out from the radio. You will also
find that various lengths of aerial
will shift the stations on the dial
and the pointer will have to be re-
set. Selectivity will also be
affected. With further experimen-
tation you will no doubt find a
fixed length of aerial which will
give you greater volume and selec-
tivity than the mains “built-in”
aerial. It that is what you desire,
well there’s something interesting
for you to work out for yourself.
Radios of this type are very criti-
cal of aerials and each one has to
be adjusted individually as to ex-
ternal aerial length and to the
locality.

The Australasian Radio World, June, 1948






WITH 7'#.5...

"ECONOMY 3"

Yes, the cricket enthusiasts can monopolise the radio—now
that the family has its ‘‘second set’’! Despite the lowest
Aegis price ever offered, this “‘easy to build”’ A.C. Kit has
all the quality features you want, such as—
% A.W.A. Single Gang Condenser % Rola or Amplion
5! Permag. Speaker % Bakelite Cabinet * Clearly-
calibrated Glass Slide Rule Dial % Cadmium-plated Metal
Parts, including Chassis.
Complete Kit (KS3/B) is, as usual, packed in Aegis sealed

carton. Price .......c....... i AT £7/7/0

(Plus Valves and slightly variable interstate)

ATTRACTIVE DISCOUNT
TO AMATEURS AND THE TRADE






